
200 Questions

Solution

Que. 1 The given table shows the number of subscribers, three newspapers A, B and C have in 4 regions of
the country, W, X, Y and Z. The country is divided into these 4 regions only. Each subscriber

 

subscribes to only 1 newspaper. After newspaper B reduces its price by 20%, 20% of subscribers of
newspaper A and 40% of subscribers of newspaper C switch to newspaper B, then revenue of newspaper B
Increases by ______.

  Newspaper/City  W  X Y Z

A 20 30 40 10

B 20 40 30 10

C 40 20 30 10

1.
2.
3.

32%
40%
60%

Correct Option - 4
28%4.

Solution

Que. 2 The line graph shows the number of students and the marks they obtained in a certain exam. The
number of students who scored between 10 and 40 marks is greater than the number of students who

scored between 40 and 80 by __________.

1.
2.
3.

67%
124%
300%

Correct Option - 2
200%4.
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Que. 3 The pie charts has the marks scored by a student in two exams. The student was to be awarded 15%
of the total marks in semester 2 as bonus marks for the had represented the school in national level

football competition. He had lost 20 marks in semester 1 as he had submitted his assignments after the due



date. What will be this student's net average of both the semesters combined? The student had scored 80

Solution

marks in science in semester 1 and 100 marks in arts in semester 2.

1.
2.
3.

74
72
76

Correct Option - 3
784.

Que. 4 The histogram shows the number of manufacturing companies in an export promotion zone by their
revenue for the 6 years (in crore rupees). If the zone collects 5% of revenue as taxes, what will be

their tax collection?
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1.
2.

Rs. 325 crore
Rs. 350 crore
Rs. 375 crore3.



Solution Correct Option - 1
Rs. 300 crore4.

Solution

Que. 5 Which of the following answer figure patterns can be combined to make the question figure?

Correct Option - 1

1.

2.

3.

4.

Solution

Que. 6 Which answer figure will complete the pattern in the question figure?

Correct Option - 3

1.

2.

3.
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4.



Solution

Que. 7 A piece of paper is folded and punched as shown below in the question figures. From the given
answer figures, indicate how it will appear when opened.

Correct Option - 1

1.

2.

3.

4.

Solution

Que. 8 If a mirror is placed on the line MN, then which of the answer figures will be the right mirror image
of the given figure?

Correct Option - 4

1.

2.

3.
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4.



Solution

Que. 9 Which of the following answer figure patterns can be combined to make the question figure?

Correct Option - 3

1.

2.

3.

4.

Solution

Que. 10 Out of the given options, three are similar in a certain manner. However, one option is NOT like
the other three. Select the option which is different from the rest.

Correct Option - 2

1.

2.

3.

4.
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Que. 11 Out of the given options, three are similar in a certain manner. However, one option is NOT like the
other three. Select the option which is different from the rest.



Solution Correct Option - 4

1.

2.

3.

4.

Solution

Que. 12 Which of the following cubes in the answer figure CANNOT be made based on the unfolded cube
in the question figure?

Correct Option - 4

1.

2.

3.

4.

Que. 13 From the given answer figures, select the one in which the question figure is hidden/embedded.



Solution Correct Option - 1

1.

2.

3.

4.

Solution

Que. 14 Which of the following answer figures completes the series of the question figure?

Correct Option - 2

1.

2.

3.

4.
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Que. 15 Consider the given statement and decide which of the given assumptions is/are implicit in the
statement.



Statement : 'Installing a soft-drink vending machine on the school campus is a bad idea.' A parent speaking in
a parents-teacher meeting.
Assumptions:
I. The parent believes that a vending machine will increase student consumption of soft drinks.
II. There is no other way in which students can buy a soft drink when they are in the campus.

1.
2.
3.

Only assumption I is implicit.
Only assumption II is implicit.
Neither I nor II is implicit.

Solution Correct Option - 1
Both I and II are implicit.4.

Solution

 

Que. 16 Read the given statement and conclusions carefully. Assuming that the information in the statement
is true, even if they appear to be in variance with commonly known facts, select which of the

conclusions logically follow(s) from the statement beyond reasonable doubt.
Statement : Data shows that post graduates earn 20% more than graduates.
Conclusions :
I. If all graduates become post graduates, then average starting salaries for all will increase by 20%.
II. If fees for post graduation match with graduation fees everybody will become post graduates.

1.
2.
3.

Only Conclusions I follows.
Only Conclusions II follows.
Both the Conclusions follow.

Correct Option - 4
None of the Conclusions follows.4.

Solution

Que. 17 Read the given statements and conclusions carefully. Assuming that the information in the
statements is true, even if they appear to be in variance with commonly known facts, select which

of the conclusions logically follow(s) from the statements beyond reasonable doubt.
Statement 1 : All breads are loaves.
Statement 2 : Some breads are cakes.
Conclusions I : Some loaves are cakes.
Conclusion II : Some cakes are breads.

1.
2.
3.

Only conclusion I follows.
Only conclusion II follows.
Both I and II follow.

Correct Option - 3
Neither I nor II follows.4.

Que. 18
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Read the given statement and conclusions carefully. Assuming that the information in the statement
is true, even if they appear to be in variance with commonly known facts, select which of the

conclusions logically follow(s) from the statement beyond reasonable doubt.
Statement : The population of Japan has decreased by 1%, while its GDP has remained stagnant as compared
to 1 year ago.
Conclusion I : The per capita GDP of Japan must have increased as compared to 1 year ago.
Conclusion II : Japan must be having more people older than 50 years than those under 50 years.

1. Only conclusion I follows.
Only conclusion II follows.2.



3. Both I and II follow.

Solution Correct Option - 1
Neither I nor II follows.4.

Solution

Que. 19 Consider the given statement and decide which of the given assumptions is/are implicit in the
statement.

Statement:
"The train is at 8 o'clock. Let us leave by 7 o'clock." Father instructing the family.
Assumptions:
I. The train could be early.
II. On an average it takes I hour for the family to reach the railway station.

1.
2.
3.

Only assumption I is implicit.
Only assumption II is implicit.
Neither I nor II is implicit.

Correct Option - 2
Both I and II are implicit.4.

Solution

Que. 20 A statement is followed by two arguments. Decide which of the arguments is/are strong with
respect to the statement.

Statement : Should electric two wheelers be subsidised?
Argument I : Yes, electric two wheelers do NOT create pollution.
Argument II : No, charging takes much longer than filling petrol.

1.
2.
3.

Only argument I is strong.
Only argument II is strong.
Neither I nor II is strong.

Correct Option - 1
Both I and II are strong.4.

Solution

 

Que. 21 In the question a statement is given followed by two courses of action numbered I and II. You have
to assume everything in the statement to be true and on the basis of the information given in the

statement, decide which of the suggested courses of action should be followed.
Statement : Incidences of dog bites have doubled in a residential area.
Courses of Action :
I : Find volunteers to trap and neuter the dogs.
II : Register a complaint at the local veterinarian.

1.
2.
3.

Follow I.
Follow II.
Follow both I and II.

Correct Option - 1
Followed neither I nor II.4.

Que. 22
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Two statement referred to as Assertion (A) and Reason (R) respectively are provided. Select the
most appropriate comment about the statements.

Assertion (A) : We feel warmer in black clothes on a sunny day.
Reason (R) : Black is a better radiation absorber than other colours.

Both A and R are true and R is the correct explanation of A.1.



2.
3.

Both A and R are true but R is NOT the correct explanation of A.
A is true but R is false.

Solution Correct Option - 1
A is false but R is true.4.

Solution

Que. 23 Two statements referred to as Assertion (A) and Reason (R) respectively are provided. Select the
most appropriate comment about the statements.

Assertion (A) : Thermosetting plastic can be easily recycle as they melt on heating.
Reason (R) : Thermosetting plastics are formed when their molecules cross-link.

1.
2.
3.

Both A and R are true and R is the correct explanation of A.
Both A and R are true but R is NOT.
A is true but R is false.

Correct Option - 1
A is false but R is true.4.

Solution

 

Que. 24 A statement is followed by three courses of action numbered I, II and III. You have to assume
everything in the statement to be true and on the basis of the information given in the statement,

decide which of the suggested course of action should be followed.
Statement : Vinod finds a purse containing money and an identity card.
Courses of Action :
I : Hand over the purse to the police station.
II : Take the money and carefully keep the purse where it was.
III : Try to contact the person using information on the card.

1.
2.
3.

Follow I and II.
Follow II and III.
Follow I and III.

Correct Option - 3
Follow all I, II and III.4.

Solution

Que. 25 Out of the given options, three are similar in a certain manner. However, one option is NOT like
the other three. Select the option which is different from the rest.

1.
2.
3.

FGH
ABC
CEG

Correct Option - 3
UVW4.

Solution

Que. 26 Out of the given options, three are similar in a certain manner. However, one option is NOT like
the other three. Select the option which is different from the rest.

1.
2.
3.

Mars
Uranus
Jupiter

Correct Option - 4
Moon4.
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Solution

Select the option that is related to the third term on the same basis as the second term is related toQue. 27
the first term.

TUS : VWU :: FGE :?
1.
2.
3.

HIG
JKI
KLM

Correct Option - 1
NOM4.

Solution

   

Que. 28 Select the option that is related to the third term on the same basis as the second term is related to
the first term.

8547 ∶ 777 ∶∶ 11110 ∶ ?
1.
2.
3.

1010
1001
5478

Correct Option - 1
82374.

Solution

Que. 29 Out of the given options, three are similar in a certain manner. However, one option is NOT like
the other three. Select the option which is different from the rest.

1.
2.
3.

209
231
247

Correct Option - 3
2534.

Solution

Que. 30 In the following question, which one set of letters when sequentially placed at the gaps in the given
letter series shall complete it?

a_zb5_c4_x3cy_b_1a
1.
2.
3.

6bx2z
y6x2a
6bxa2

Correct Option - 4
6yx2z4.

Solution

Que. 31 Find the missing number in the following number series.
-4, -3.25, -2.5, ?, -1, -0.25

1.
2.
3.

-1.25
-2
-1.75

Correct Option - 3
-1.54.
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Que. 32 In an artificial language, 'bujmiz' means 'backbone' 'kolmiz' menas 'kicback' and 'ritbuj' means
'barebone'.



Which word would mean 'threadbare'?
1.
2.
3.

Bujtek
Vokmiz
Kolnim

Solution Correct Option - 4
Nufrit4.

Solution

Que. 33 If DRAUGHT is coded as WIZFTSG, then how will LIP be coded as?

Correct Option - 2

NKR1.
2.
3.

ORK
KHO
MJQ4.

Solution

  
Que. 34 If '+' means '×', '-' means '÷', '×' means '-' and '÷' means '+' then

18 × 9 ÷ 3 + 8 - 4 = ?
1.
2.
3.

15
3
1

Correct Option - 1
94.

Solution

Que. 35 If A @ B means A is the sister of B, A # B means A is the mother of B and If A * B means A is the
father of B, then what does P * Q @ R # S mean?

1.
2.
3.

P is the father of S.
P is the son of S.
P is the son-in-law of S.

Correct Option - 4
P is the grandfather of S.4.

Solution

Que. 36 E said to F, "You are my son's wife's father-in-law." How is F related to E?

Correct Option - 4

F is the brother-in-law of E.1.
2.
3.

F is the father of E.
F is the wife of E.
F is the husband of E.4.

Solution

Que. 37 A glider flies 10 km to the north-east. It then turns 90' left and flies 5 km. It then turns 40' to its
right and flies 10 km. It then turns 135' to its left. In which direction is it flying now?

1.
2.
3.

South-east
North-east
South-west

Correct Option - 3
North-west4.
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Solution

A woman is pushing a trolley in a mall. She starts and walks 110 m southwards, then she turnsQue. 38
eastwards and walks 80 m, then she turns northwards and walk 120 m, then she turns westwards

and walks 120 m then she turns to her left and walks 10 m. Were is she now with reference to her starting
position?

1.
2.
3.

40 m eastwards
200 m westwards
200 m eastwards

Correct Option - 4
40 m westwards4.

Solution

Que. 39 A few telecommunication towers S, J, Z, E, N and B are plotted on a map. Z is 6 km to the north of
S, which is 9 km to the west of J, which is 12 km to the north of B, which is 9 km to the east of N,

which is 15 km to the north of E. Where is Z with respect to E?
1.
2.
3.

33 km northwards
33 km southwards
9 km northwards

Correct Option - 1
9 km southwards4.

Solution

Que. 40 If 15 # 3 = 9; 10 # 2 = 4; 2 # 20 = 8; then find the value of 2 # 25 = ?

Correct Option - 2

51.
2.
3.

10
27
94.

Solution

Que. 41 From the given alternatives, select the number which can be placed in place of the question mark
(?).

1.
2.
3.

30
24
6

Correct Option - 2
124.

Que. 42 From the given alternatives, select the number which can be placed in place of the question
mark(?).

7 6 8
2 5 1
4 3 9
?
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4 16

1. 9
72.



3. 10

Solution Correct Option - 1
54.

Solution

 

Que. 43 The given Venn diagram shows the number of members of a flying club and the aircraft type they
are licensed to fly. How many total members have a license to fly an aeroplane with a glider only

and have a license to only fly a helicopter?

1.
2.
3.

12
34
10

Correct Option - 3
154.

Solution

Que. 44 Which of the following Venn diagrams best represents the relationship between mothers, women
and writers?

Correct Option - 1

1.

2.

3.

4.
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Que. 45 The bar graph shows the distance jogged by Sumit each day of a particular week. If 80 calories are
burned by jogging a km, how many calories were burnt by Sumit in the given week?



Solution

 
 
 

 

1.
2.
3.

2,420 calories
2,240 calories
2,380 calories
2,50

Correct Option - 2
calories4.

Solution

 

Que. 46

 

The given table shows the number of boys and girls studying in the four streams in college X. The
number of girls studying Arts is greater than boys studying Commerce by ________.

Stream Boys Girs

Medical 40 80

Engineering 90 40

Commerce 80 30

 

Arts 40 90

1.
2.
3.

12.50%
17.50%
7.50%

Correct Option - 1
22.50%4.
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Que. 47 The pie chart shows the breakup of the expenses for an accounting year for company X. If the
company paid Rs. 2 lakh as taxes, what were the company's expenses towards Raw Materials?



Solution

1.
2.
3.

Rs. 50 lakh
Rs. 40 lakh
Rs. 30 lakh

Correct Option - 4
Rs. 20 lakh4.

Solution

Que. 48 The line graph shows cumulative production of cars manufactured in the month starting from
January. How many cars were manufactured in the months of March and June?

1.
2.
3.

800
500
700

Correct Option - 4
6004.
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Que. 49 The histogram shows the run rate in a 50 over innings by overs. The total number of runs made in
this innings were ______.



Solution

1.
2.
3.

310
300
320

Correct Option - 1
3304.

Solution

Que. 50 The bar graph shows the GDP growth rate of country X by year. If the GDP of the country was $5
trillion at the beginning of 2016, what was it at the end of 2017?

 
 
 

1.
2.
3.

$5.76 trillion
$5.54 trillion
$5.67 trillion
$5.45

Correct Option - 3
trillion4.

Solution

Que. 51 The Africa Centre for Climate and sustainable development was inaugurated by______.

Correct Options - 1

Giuseppe Conte, the Prime Minister of Italy1.
2.
3.

Abdelaziz Bouteflika, the President of Algeria
Ram Nath Kovind, the President of India
Edouard Philippe, the Prime Minister of France4.
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Que. 52



Solution

Salom Zutabishvili was elected as the first female president of _______ She tool charge on
December 16,2018.

1.
2.
3.

Georgia
the Ukraine
Greece

Correct Option - 1
Turkey4.

Solution

 

 
 
 

Que. 53 Name  the Indian bowler who has become the fastest Indian to reach 100 wickets.

Correct Option - 3

I Ishant Sharma1.
2.
3.

Hardik Pandya
Mohammed Shami
Dinesh Karthik4.

Solution

 

 
 

Que. 54 In January 2019, if was announced that the  word _______ was chosen as the Hindi word of Year
2018 by the Oxford Dictionaries.

1.
2.
3.

Beti Bachao
Swachh Bharat
Nari Shakti

Correct Option - 3
Jan Dhan4.

Solution

 
 

 
 
 

Que. 55 The minimum support price for wheat to be marketed in 2018-19 is  _____ per quintal.

Correct Option - 4

Rs. 1,6201.
2.
3.

Rs. 1,460
Rs. 1,280
Rs. 1,8404.

Solution

Que. 56 Name the rice from Kerala that has a GI (Geographical Indication) tag.

Correct Option - 2

Gautami1.
2.
3.

Navara
Seshu
Jagannath4.

Solution

 
 

Que. 57 Tea from which place in India has a registered GI (Geographical Indication) tag?

Correct Option - 4

Assam1.
2.
3.

Kerala
Uttarakhand

Darjeeling4.
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Que. 58



Solution

 
 
 
 

_______ is the measurement of the amount of data that can be transmitted over a network at any
given time.

1.
2.
3.

Cache
Calibre
Badge

Correct Option - 4
Bandwidth4.

Solution
 

Que. 59 On a multitasking system, a ________is a certain amount of RAM that is allocated as a temporary
holding area so that the CPU can manipulate data before transferring it to a particular device.

Helix
Wizard

Correct Option - 1

Bounce

1.
2.
3.

Buffer4.

Solution

Que. 60 Which file type has the file extension bat?

Correct Option - 4

Adobe Photoshop1.
2.
3.

Web page imagemap
Macintosh BinHex
PC batch flle4.

Solution

Que. 61 Name the place where Buddhists believe Gautama Buddha attained Parinirvana after his death.

Correct Option - 2

Kaushambi1.
2.
3.

Kushinagar
Budaun
Chitrakoot4.

Solution

Que. 62 Which folk music of Uttar Pradesh is part of the life-cycle repertoire, sung to celebrate the birth of
a child?

1.
2.
3.

Kaharwa
Chanayni
kajri

Correct Option - 4
Sohar4.

Solution

 
 
 
 

Que. 63 Name the variety of scented rice grown Primarily in the tarai region of Uttar Pradesh.

Correct Option - 4

Rose Matta1.
2.
3.

Sona Masuri
Tripti
Kalanamak4.
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Solution

Which of the following towns in Uttar Pradesh has 300 small units producing a wooden percussionQue. 64
instrument called dholak?

1.
2.
3.

Amroha
Jaunpur
Bulandshahr

Correct Option - 1
Hardoi4.

Solution

Que. 65

 

Budaun is famous for its Zari-Zardozi products. This work is prominent in tehsil Budaun, Bisoli,
and Dataganj. Almost 35 percent of the families are engaged in this industry, Locally, this work is

also known as ________
1.
2.
3.

Phaddi
Kalamkari
Tanjori

Correct Option - 4
karchobi4.

Solution

 

Que. 66 Name the classical Hindustani singer from Varanasi, who was adopted by noted sarangi player
Siyaji Mishra.

Siddheswari Devi

Correct Option - 1

Girija Devi
1.
2.
3. Gangubai Hangal

Shubra Guha4.

Solution

Que. 67 The city of Ballia, the district headquaters, is believed to be the birthplace and workplace of
Maharshi______

1.
2.
3.

Agastya
Bharadwaja
Bhrigu

Correct Option - 3
Gautama4.

Solution

 

 
 

Que. 68 Ustad Vilayat Hussain Khan of the Agra gharana composed bandishes in many ragas under the pen
name_______

1.
2.
3.

Prem Das
Pran Piya
Sabrang

Correct Option - 2
Darpan4.
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Que. 69 The University of Agriculture and Technology located at Kanpur, is named after which freedom
fighter?

1.
2.

Chandra Shekhar Azad
Mahatma Gandhi
Lai Bahadur Shastri3.



 
Solution Correct Option - 1

Mangal Pandey4.

Solution

 
 
 

Que. 70 The Rumi Darwaza is in ______ city of Uttar Pradesh

Correct Option - 1

Lucknow1.
2.
3.

Agra
Fatehpur Sikri

Aligarh4.

Solution

 
 

Que. 71 In the 1857 sepoy mutiny, the sepoys had objected to cartridges made by which company?

Correct Option - 2

Atkins1.
2.
3.

Enfield
Remington
Winchester4.

Solution

 
 
 
 

Que. 72 Khudiram Bose was hanged for his attempt to assassinate a British judge, Magistrate ______.

Correct Option - 1

Kingford1.
2.
3.

Shore
Clarke
Barlow4.

Solution

 
 
 
 

Que. 73 Name the chairman of the Minorities Sub-Committee of the Constituent Assembly.

Correct Option - 3

Alladi Krishnaswami Ayyar1.
2.
3.

B. Pattabhi Sitaramayya
H.C.Mukherjee
K.M. Munshi4.

Solution

 
 
 
  
 

Que. 74 In 1829, Rammohan Roy founded a new religious society known as the _______ Sabha which later
on came to be known as the Brahmo Samaj.

1.
2.
3.

Atmiya
Arya
Siddhi

Correct Option - 1
Jagriti4.
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Que. 75 The ______ in 1897 by Swami Vivekkhanda
Shuddhi Movement was started1.

2.
3.

Tattavabodhini Sabha was founded
Ramakrishna Mission was founded
Sarvodaya, Bhoodan Movement was started4.



Solution Correct Option - 3

Solution

 
 

Que. 76 The Bengal Regulation Acts of 1795 and 1804 declared______

Correct Option - 2

the practice of sati illegal
murdering of female infant illegal
widow remarriages as legal

1.
2.
3.

practice of child marriage illegal4.

Solution

 
 
 
 

Que. 77 After the Battle of Buxar the Nawab of _______ ceded Allahabad and Kora to the Munghal
Emperor was came under the protection of the British troops.

1.
2.
3.

Bengal
Bhopal
Bahawalpur

Correct Option - 4
Awadh4.

Solution

Que. 78

 
 
 
 

The McMahon Line is a borderline between the Tibetan region of China and the north-east region
of India, Proposed by British colonial administrator Henry McMahon at the 1914_______

Convention.
1.
2.
3.

Darjeeling
Shimla
Lhasa

Correct Option - 2
Kathmandu4.

Solution

 
 
 
 

Que. 79 In the Chittagong armoury raid, put into action oon 18 April 1930, the police armoury in Dampara
was captured by a group of revolutionaries led by________

1.
2.
3.

Chittaranjan Das
Ganesh Ghosh
Bagha Jatin

Correct Option - 2
Ullaskar Datta4.

Solution

 
  
  
 

Que. 80 India's territorial waters extend into the sea to a distance of ________ from the coast baseline.

Correct Option - 3

18 nautical miles1.
2.
3.

24 nautical miles
12 nautical miles
30 nautical miles4.
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Que. 81 The  ______ peak is highest peak in Silent Valley National Park, Palakad.
Anamudi1.

2. Anginda
Devimala3.



 
Solution Correct Option - 2

Perumal4.

Solution

 
 
 

Que. 82 Which river, before entering the western coastal plains, descends down a 275 m high cliff and
forms the Gersoppa Falls?

1.
2.
3.

Ghataprabha
Hemavati
Sharavati

Correct Option - 3
kabini4.

Solution

 
 
 

Que. 83 Which state has the highest installed electricity generation capacity?

Correct Option - 1

Gujarat1.
2.
3.

Tamil Nadu
Andhra Pradesh
Maharashtra4.

Solution

 
 
 

Que. 84 The world's largest reserves of which radioctive elements are found in India?

Correct Option - 4

Uranium1.
2.
3.

Radium
Plutonium
Thorium4.

Solution

 
 
 

Que. 85 Which tribal community in India is mostly located in the Aravalli Ranges of Sirohi in Udaipur?

Correct Option - 3

Gond1.
2.
3.

Kodava
Bhil
Toto4.

Solution

 
 
 

Que. 86 The ______ language is a Sino-Tibetan language.

Correct Option - 3

Kuvi1.
2.
3.

Thado
Dimasa

Malto4.
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Que. 87 Which of the following countries does NOT lie partly or wholly in the Sahara desert?
Algeria1.

2.
3.

Libya
Nigeria
Egypt4.



Solution Correct Option - 3

Solution

 
 

Que. 88 Mount killimanjaro is a dormant volcano in _____

Correct Option - 1

Tanzania1.
2.
3.

Kenya
Ethiopia

Ghana4.

Solution

 
 

 

Que. 89 The Gram Panchayat system has three levels, The block level is the ________

Correct Option - 2

State Commitee1.
2.
3.

Panchayat Samiti
Zilla parishad
Gram Sabha4.

Solution

Que. 90 The work of which committee set the stage for the launching of Panchayati Raj institutions
throughout the country?

1.
2.
3.

Bhanu Pratap Singh Conmmittee
Balwant Rai Mehta Committee
C Rangarajan Committee

Correct Option - 2
Arvind Mayaram Committee4.

Solution

 

Que. 91 Under which programme will each member of Parliment take the resposibility for developing
physical and institutional infrastructure in three villages by 2019?

1.
2.
3.

Deen Daya Upadhyaya Grameen Kaushalya Yojana
Swarnajayanti Gram Swarozgar Yojana
Prime Minister Rural Developement Fellows Scheme

Correct Option - 4
Saansad Adarsh Gram Yojna4.

Solution

Que. 92 A political party shall be eligible to be recognised as a national party if it wins at least ______ in
the Lok sabha and these members are elected from at least three different states

1.
2.
3.

11 seats
21 seats
16 seats

Correct Option - 1
26 seats4.
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Que. 93 In order to stand for a Lok Sabha or an Assembly election, a candidate must be at least _______
years old.

1.
2.

23
21
253.



Solution Correct Option - 3
184.

Solution

Que. 94 At present, there are _______ Lok Sabha constituencies This number has NOT changed since
1971.

1.
2.
3.

543
534
556

Correct Option - 1
5654.

Solution

Que. 95 The ______ temple is one of the largest rock-cut ancient Hindu temples located Ellora,
Maharashtra, India.

1.
2.
3.

Pataleshwar
Bhairava
Dudhnath

Correct Option - 4
Kailasha4.

Solution

Que. 96 Between the 2001 and 2011 censuses, India's Population grew by________

Correct Option - 2

20.70%1.
2.
3.

17.70%
14.40%
24.40%4.

Solution

Que. 97 India's fiscal deficit stood at _______ by the end of November 2018.

Correct Option - 2

Rs 6.23 lakh crore1.
2.
3.

Rs 7.17 lakh crore
Rs 5.85 lakh crore
Rs 4.61 lakh crore4.

Solution

 
 
 

Que. 98 The ratio of equity share capital to fixed interest bearing funds is called _______

Correct Option - 2

Proprietory Ratio1.
2.
3.

Capital Gearing ratio
Capital Tumover Ratio
Debt service Ratio4.
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Que. 99 The basic accounting equation is ______
Stockholder's equity = Assets - Liabilities1.

2.
3.

Profits = Revenues - Costs
Assets = Liabilities - Stockholder's equity
Net worth = Assets + Liabilities4.



Solution Correct Option - 1

Solution

Que. 100 The interim budget 2019 has announced a farm income support scheme PM Kisan Samman Nidhi
For this scheme the Centre will transfer _____ every year to small and marginal farmers.

1.
2.
3.

Rs 10,000
Rs. 6,000
Rs. 14,000

Correct Option - 2
Rs, 18,0004.

Solution

Que. 101 The time period of a simple pendulum depends upon the _______.

Correct Option - 1

length of the pendulum1.
2.
3.

mass of the pendulum bob
tension in the string of the pendulum
density of the material of the pendulum4.

Solution

Que. 102 The digestive juice in our stomach consists mainly of _______.

Correct Option - 3

sulphuric acid1.
2.
3.

nitric acid
hydrochloric acid
acetic acid4.

Solution

Que. 103 The _______ is the largest and strongest chamber in a human heart.

Correct Option - 2

right ventricle1.
2.
3.

left ventricle
left atrium
right atrium4.

Solution

Que. 104 Which of the following elements is commonly used to make a nuclear bomb?

Correct Option - 3

Helium1.
2.
3.

Radium
Uranium
Actinium4.

Solution
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Que. 105 Pharma exports from India in financial year 2018 were _______.

Correct Option - 1

$23 billion1.
2.
3.

$39 billion
$45 billion
$17 billion4.



Solution

Que. 106 The design and development of India's indigenous light transport aircraft named _______ is being
done by the CSIR-National Aerospace Laboratories.

1.
2.
3.

Vimaan
Saras
Garud

Correct Option - 2
Hans4.

Solution

Que. 107 India's most powerful super computer PRATYUSH been installed at IITM (Indian Institute of
Tropical Meteorology) _______.

1.
2.
3.

Hyderabad
Roorkee
Kanpur

Correct Option - 4
Pune4.

Solution

 
 

Que. 108 The BrahMos missile, has a top supersonic speed of Mach _______.

Correct Option - 3

0.8 to 11.
2.
3.

1.8 to 2
2.8 to 3
3 to 4.84.

Solution

Que. 109 As per the World Health Organisation (WHO) recommendation of a balanced diet, to avoid
unhealthy weight gain, total fat should NOT exceed _______ of total energy intake.

1.
2.
3.

20%
30%
10%

Correct Option - 2
40%4.

Solution

 
 
 

Que. 110 Carbohydrates provide energy of _______.

Correct Option - 3

8 kcal/g1.
2.
3.

12 kcal/g
4 kcal/g
16 kcal/g4.

Solution

Que. 111 Which of the following vitamins is NOT fat soluble?

Correct Option - 2

Vitamin A1.
2.
3.

Vitamin C
Vitamin E
Vitamin K4.

www.prepp.in



Solution

Que. 112 Almonds are rich in which vitamin?

Correct Option - 3

Vitamin C1.
2.
3.

Vitamin A
Vitamin E
Vitamin D4.

Solution

Que. 113 Normal levels of white blood cells in blood is _______ thousands / mm3.
1.
2.
3.

0.5 - 5
4.5 - 10
10 - 14.5

Correct Option - 2
15 - 19.54.

Solution

Que. 114 _______ is important for controlling the balance of fluids in the body as well as the correct
functioning of the heart muscles.

1.
2.
3.

Calcium
Iron
Manganese

Correct Option - 4
Potassium4.

Solution

Que. 115 Pernicious anaemia is a condition in which the body CANNOT make enough healthy red blood
cells because it does NOT have enough _______.

1.

2.
3.

vitamin B6

riboflavin
folate
vitamin B

Correct Option - 4
124.

Solution

Que. 116 Normal red blood count in an adult man is _______ million/mm3.
1.
2.
3.

2.5 - 4.5
6.5 - 9.5
4.6 - 6.2

Correct Option - 3
9.6 - 12.24.

Solution
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Que. 117 _______ are loaded with vitamins, minerals, beta-carotene, vitamin C, folate, iron, magnesium,
carotenoids, phytochemicals, and antioxidants.

1.
2.
3.

Dairy products
Berries
Dark leafy greens

Correct Option - 1
Whole grains4.



Solution

 

Que. 118 _______ also have antioxidant and anti-inflammatory properties that can help support a healthy
human body.

1.
2.
3.

Minerals
Amino acids
Fats

Correct Option - 4
Phytonutrients4.

Solution

Que. 119 In water treatment plants, what are the steps to remove dissolved solids?

Correct Option - 3

Oxidation and Filtration1.
2.
3.

Activated carbon and Air stripping
Reverse Osmosis, Distillation and deionization by ion exchange
Oxidizing Filter, Green-sand Mechanical Filter4.

Solution

Que. 120 Which of the following compounds is a major component of marble?

Correct Option - 3

Magnesium sulphate1.
2.
3.

Silicon dioxide
Calcium carbonate
Potassium nitrate4.

Solution

 
 

 

Que. 121 Sound of which of the following frequencies would be audible to a human being?

Correct Option - 3

5 Hz1.
2.
3.

50,000 Hz
100 Hz
1,00,000 Hz4.

Solution

Que. 122 The boiling point of water in Fahrenheit scale is _______.

Correct Option - 3

32° F1.
2.
3.

100° F
212° F
373° F4.

Solution

Que. 123 The most commonly used material to make the filament in an electric bulb is _______.

Correct Option - 2

chromium1.
2.
3.

tungsten
platinum
nickel4.
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Que. 124 Which of the following processes is a chemical change?



Solution Correct Option - 1

Photosynthesis in plants1.
2.
3.

Melting of wax
Condensation of water
Transpiration in plants4.

Solution

Que. 125 Which of the following precious stones is made of an element and not a compound?

Correct Option - 1

Emerald1.
2.
3.

Garnet
Jade
Diamond4.

Solution

     Que. 126 If Cosec θ = 25/7, then Tan θ = ?

Correct Option - 2

24/71.
2.
3.

7/24
7/25
24/254.

Solution

Que. 127

 
 
 

The horizontal distance between two towers is 100 m and the angular depression of the top of the
first tower as seen from the top of the second tower, which is 120 m high, is 45°. Find the height

of the first tower.
1.
2.
3.

40 m
60 m
20 m
80

Correct Option - 3
m4.

Solution

 Que. 128 Select the most appropriate option to solve the equation:
Cos A/(1 - Sin A) = ?

1.
2.
3.

sec A + tan A
sec A - tan A
cosec A + cot A

Correct Option - 1
cosec A - cot A4.

Solution

Que. 129 Select the most appropriate option to solve the following expression.

Correct Option - 2

=?
(0.0081 ×  )0.032√

0.0001√
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1.
2.
3.

0.81
0.27
0.09
0.0034.



Solution

Que. 130 Convert binary 10101100 to decimal.

Correct Option - 2

1841.
2.
3.

172
196
1684.

Solution

Que. 131 If the LCM and HCF of two numbers are 1144 and 13 respectively and one of the numbers is 104,
then find the other number.

1.
2.
3.

157
169
137

Correct Option - 4
1434.

Solution

Que. 132 What is the quotient when 2143 is divided by 387

Correct Option - 1

51.
2.
3.

7
6
44.

Solution

Que. 133 A vendor sold a dozen bananas at Rs.48 and made a 20% profit. If he had sold them for
Rs.60/dozen then he would have made a profit of _______.

1.
2.
3.

40%
60%
50%

Correct Option - 3
25%4.

Solution

Que. 134 The mean of all odd numbers from 111 to 245 is _______.

Correct Option - 2

1801.
2.
3.

178
182
1844.

Solution
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Que. 135 A shopkeeper offers a discount of 28% on the marked price of an item and thus ends up selling at
cost price. By what percentage is the marked price greater than the cost price?

1.
2.
3.

18.25%
22%
38.88%

Correct Option - 3
28%4.



Solution

Que. 136 Profit of Rs. 5,62,000 has to be divided among three partners X, Y, and Z. Share of X is (2/3) of
Y, and share of Y is (3/5) of Z. How much does Z get as his share of profit?

1.
2.
3.

Rs.2,48,000
Rs.2,62,000
Rs.2,81,000

Correct Option - 3
Rs.2,24,0004.

Solution

Que. 137 A and B working together complete a job in 12 days. For this job A gets paid Rs.4,980 and B gets
paid Rs.3,320. If A had worked alone on this job he would have completed it in how many days?

1.
2.
3.

30
20
24

Correct Option - 2
364.

Solution

Que. 138

 

A pipe can fill a cistern in 12 hours, while due to a leak at its bottom, it can empty the filled tank
in 16 hours. If the efficiency of the pipe is increased by 50% and the efficiency of the Leak is

halved, the time taken to fill 90% of the tank is
1.
2.
3.

9 hours 30 minutes
8 hours 35 minutes
8 hours 30 minutes

Correct Option - 4
9 hours 36 minutes4.

Solution

Que. 139 If the amount received at the end of the 3rd and the 4th year at compound interest on a certain
principal is Rs.19,800 and Rs.21,384 respectively, then what is the rate of interest?

1.
2.
3.

8%
5%
10%

Correct Option - 1
9%4.

Solution

 
 
 

Que. 140 5 years before, his father's age was 2 years more than 5 times Vinod's age then. After 10 years, his
father's age will be 14 years less than 3 times Vinod's age then. Find the father's present age.

1.
2.
3.

42 years
52 years
37 years
47

Correct Option - 1
years4.
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Que. 141 If a3 + b3 = 189 and ab = 20, then find a + b.
1.
2.

9
-12
-93.



Solution Correct Option - 1
124.

Solution

Que. 142 Solve the equation to find value of x up (2x - 1/x) = 7, upto 2 decimal places.

Correct Option - 4

2.67 or -0.241.
2.
3.

1.52 or -0.72
4.24 or -0.64
3.64 or -0.144.

Solution

Que. 143 Which of the following is correct algebraic identity?

Correct Option - 3

(ab + bc + ca) (a + b + c) + abc = (a + b) (b + c) (c + a)1.
2.
3.

(ab + bc + ca) (a + b + c) + 3abc = (a + b) (b + c) (c + a)
(ab + bc + ca) (a + b + c) - abc = (a + b) (b + c) (c + a)
(ab + bc + ca) (a + b + c) + 2abc = (a + b) (b + c) (c + a).4.

Solution

 
 
 

Que. 144 The perimeter and the breadth of a rectangle are 49 cm and 7 cm respectively. Find its length.

Correct Option - 3

14.5 cm1.
2.
3.

16.5 cm
17.5 cm
15.5 cm4.

Solution

Que. 145 If the measure of the interior angle of a regular polygon is 90° greater than the measure of its
exterior angle, then how many sides does it have?

1.
2.
3.

9
10
8

Correct Option - 3
124.

Solution

Que. 146 The perimeter of an equilateral triangle is 18 cm. Find its area.

Correct Option - 1

9  c3
–

√ m
2

36  c3
–

√ m
2

18  c3
–

√ m
2

1.
2.
3.
4. 27  c3

–
√ m

2

 
 

Que. 147

 

Find the volume of a right circular cylinder of diameter 7 cm and height 6 cm.

231 cm3
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246 cm3

1.

2.
3. 258 cm3

4. 264 cm3



Solution Correct Option - 1

Solution

 
 

Que. 148

 

Find the volume of a sphere of diameter 21 cm.

4,637 cm

Correct Option - 3

3

4,481 cm3

1.

2.
3. 4,851 cm3

4. 4,257 cm3

Solution

 
 

Que. 149

 

Find the total surface area of a right circular cone of diameter 7 cm and slant height 9 cm.

113.5 cm

Correct Option - 4

2

159.5 cm2

1.

2.
3. 171.5 cm2

4. 137.5 cm2

Solution

 
 

 

Que. 150 The total surface area of a hemisphere is 1,848 cm2. Find its diameter.
1.
2.
3.

31.5 cm
28 cm
14 cm
17.5

Correct Option - 2
cm4.

              

 

 

 

Que. 151 मु� िबजली के ब�ों के ऑड�र के िनर�ीकरण की सूचना देते �ए िकसे प� िलख�गे?
1. संभरक
2. ब� िवभाग
3. उपल�ता िवभाग
4. अ�� महोदय

Solution Correct Option - 1

Solution

          

 

   

काया�लय आदेश िकसके िलए िनकाले गए आदेशों की सूचना हैQue. 152 ?
1. मं�ालय
2. संब� िवभाग-�भाग
3. अनुभव
4. सभी िवक� सही

Correct Option - 4
ह�
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छोटे संबंिधयाँ को पं� म� संबोधन �ा िलख�गेQue. 153 ?
1. िचरंजीव
2. पूजनीय
3. परमपू�
4. िहतैषी



Solution Correct Option - 1

                  

                   
                    

                     
                      

                   

िनद�शः नीचे िदए गये ग�ांश को �ानपूव�क पढ़� और चार िवक�ों म� से ��ेक �� का सबसे उिचत उ�र
चुन�

Que. 154
।

    

साहस की िजंदगी सबसे बड़ी िजंदगी होती है। ऐसी िजंदगी की सबसे बड़ी पहचान यह है िक वह िबलकुल िनडर,
िबलकुल बेख़ौफ होती है। साहसी मनु� की पहली पहचान है िक वह इस बात की िचंता नही ं करता िक तमाशा देखने
वाले लोग उसके बारे म� �ा सोच रहे ह�। दूसरों की परवाह िकए बगैर जीने वाला आदमी दुिनया की असली ताकत होता
है और मनु�ता को �काश भी ऐसे ही आदमी से िमलता है। साहसी मनु� उन सपनों म� भी रस लेता है िजनका कोई
�ावहा�रक अथ� नही ं है। साहसी मनु� सपने उधार नही ं लेता, वह अपने िवचारों म� रमा �आ अपनी ही िकताब पढ़ता है।

                    
                     

                  
             

झ

     

ंड म� चलना औरु झ

 

ंड म� चरना तो भ�स और भेड़ का काम है। साहसी मनु� तो िसंह के समान होता है जो अकेला होु ने
पर भी म� रहता है। अना�� बैनैट ने एक जगह िलखा "जो आदमी उपयु� अवसर िमलने पर भी साहस से काम न ले
सका, वह कभी. भी सुखी नही ं हों सकता" । समय पर साहस न िदखाने वाला ��� अपने भीतर एक आवाज सुनंता है
जो उसे बराबर कहती ह�, "तुम साहस नही”ं िदखा सके, तुम कायर की तरह भाग खड़े �ँए।

साहसी मनु� �ा उधार नही ं लेता?
1. सपने
2. िवचार
3. बु��
4. अवसर

Solution Correct Option - 1

Solution

    साहसी मनु� िकसके समान हैQue. 155 ?
1. भ�स
2. भ�ड़
3. िसंह
4. जा

Correct Option - 3
नवर

            

 

 

 

  

दुिनया की परवाह िकए िबना जीने वाले ��� से िकसको �काश िमलता हैQue. 156 ?
1. दुिनया

Correct Option - 3

को
2. समाज को
3. मनु�ता को
4. आम आदमी को

Solution

Solution

       

  

 

 

लेखक ने कैसे जीवन को महान बताया हैQue. 157 ?
1. िववेकशील जीवन को
2. कमजोरी की
3. �ावलंबनपूण�
4. िह�त

Correct Option - 4
की
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Solution

           

    

 

Que. 158 इनम� से कौन सा �ावहा�रक श� के िलए पया�यवाची श� नही ं है
�वहारशी

Correct Option - 2

ल1.

2. आदश�वादी
3. �वहार म� लाने के यो�
4. �वहार कुशल

Solution

          

 

 

 

इनम� से कौन सी देवनागरी िलिप की वण� �िन नही ंQue. 159 है
1. �ीवा �िन
2. मूधा� �िन
3. कंठ �िन
4. द�ो�

Correct Option - 1
�

Solution

   

 

 

 

िहमंतरंिगनी िकसका का� - सं�ह हैQue. 160 ?
1. िदनकर
2. रामकुमार वमा�
3. माखनलाल चतुव�दी
4. भगवतीचरण व

Correct Option - 3
मा�

Solution

        

  

 

  

आधुिनक ढंग से पहला एकांकी िकसे माना जाता हैQue. 161 ?
1. बादल की मृ�ु
2. एक घँूट
3. कारवाँ
4. भोर का ता

Correct Option - 1
रा

Solution

        

 

 

केशवदास �ारा रिचत आ�ा��क �ंथ का नाम �ा थाQue. 162 ?
1. रामचंि�का
2. िव�ान गीता
3. किवि�या
4. रिसकि�

Correct Option - 1
या
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िहंदी सािह� का आधुिनक काल सामा�तया कब से माना जाताQue. 163 है
1850 ई. से
1700 ई. से
1750 ई. से
1900 ई. से

1.

2.

3.

4.



Solution Correct Option - 1

                
 

     

     

     

     

िन�िल�खत �� म�, चार िवक�ों म� से, उस सही िवक� का चयन कर� जो शु� वा� का सबसे अ�ा
िवक� है

Que. 164
।

1. दो लड़के इधर आ रहे ह�।
2. दो लड़का उधर आ रहे ह�।
3. दो लड़के इधर आ रहे है।
4. दो लड़का इधर आ रहा है।

Solution Correct Option - 1

                
 

    

   

   

    

िन�िल�खत �� म�, चार िवक�ों म� से, उस सही िवक� का चयन कर� जो शु� वा� का सबसे अ�ा
िवक� है

Que. 165
।

1. हम आप से कहा था।
2. हमने आपसे कहो  ंथा।
3. हमने आपसे कहा था।
4. हम आप से कहे थे।

Solution Correct Option - 3

                
 

    

   

   

   

िन�िल�खत �� म�, चार िवक�ों म� से, उस सही िवक� का चयन कर� जो शु� वा� का सबसे अ�ा
िवक� है

Que. 166
।

1. वहाँ िद�ी अव� ही आएगा।
2. िद�ी अव� आएगा वह।
3. वह िद�ी अव� आएगा।
4. वह िद�ी आव�क आएगा।

Solution Correct Option - 3

                
 

     

      

     

      

िन�िल�खत �� म�, चार िवक�ों म� से, उस सही िवक� का चयन कर� जो शु� वा� का सबसे अ�ा
िवक� है

Que. 167
।

1. एक किवताओं की पु�क मुझे दीिजए।
2. एक किवता की एक पु�क मुझे दे।
3. किवताओ ंकी एक पु�क मुझे दीिजए।
4. किवता की एंक पु�क मुझे दे दो।

Solution Correct Option - 3
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िन�िल�खत �� म�, चार िवक�ों म� से, उस सही िवक� का चयन कर� जो शु� वा� का सबसे अ�ा
िवक� है

Que. 168
।

1. मुझे केवल 4 रोिटयाँ मा�ा दीिजए।
2. मुझे केवल 4  रोिटयाँ दो।
3. मुझे 4  रोिटयाँ केवल मा�ा दीिजए।
4. मुझे केवल 4  रोिटयाँ दीिजए।

Solution Correct Option - 4



              

      

 

 

 

 

िन�िल�खत �� म�, चार िवक�ों म� से िदए गए वा� का सही ं काल वाला िवक� पहचािनQue. 169 ए।
दीपा पौधों को पानी दे रही थी।

1. अपूण� भूतकाल
2. आस� भूतकाल
3. पूण� भूतकाल
4. संिद� भूतकाल

Solution Correct Option - 1

                 

        

 

 

 

 

िन�िल�खत �� म�, चार िवक�ों म� से, उस िवक� का चयन कर� जो प� के भेद का सही िवक� होQue. 170 ।
दीपा लगातार पढ़ाई करती थी, इसिलए क�ा म� �थम आई।

1. अ�ास�ोदक प�
2. िन�ता�ोतक प�
3. �गित�ोतक प�
4. पूण�ता�ोतक प�

Solution Correct Option - 1

               
       

    

 

 

 

 

िन�िल�खत �� म�, चार िवक�ों म� से, उस िवक� का चयन कर� जो रेखांिकत श� के आधार पर
पु�षवाचक सव�नाम के भेद का सही िवक� है

Que. 171
।

वह कल मुझसे िमलने आएगी।
1. संबंधवाचक सव�नाम
2. म�म पु�ष
3. अ� पु�षवाचक
4. उ�म पु�ष

Solution Correct Option - 3

                 

        

िन�िलं�खत �� म�, चार िवक�ों म� से, उस िवक� का चयन कर� जो वृि� के सही भेद का िवक� हैQue. 172 ।
यिद सारा सामान िमल गया तो भोजन अ�ा बनेगा।

1. संदेहाथ�
2. संकेताथ�
3. संभावनाथ�
4. िन�याथ�

Solution Correct Option - 2

                  

        

 

 

 

 

िन�िल�खत �� म� चार िवक�ों म� से उस िवक� का चयन कर� जो सही वा� भेद का िवकं� हैQue. 173 ।
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माँ ने कहा था िक उ� ह� बाजार जाना है
1. िम� वा�
2. संयु� वा�
3. िनषेधवाचक वा�
4. संकेतवाचक वा�

Solution Correct Option - 1



                   िकसी की कही �ई बात को �� करने के िलए वा� के अंत म� िकस िच� का उपयोग करते हैQue. 174 ?
1. लोप
2. लाघव
3. रेखांकन
4. िववरण

Solution Correct Option - 4

                 
 

    

   

 

 

िन�िल�खत �� म�, चार िवक�ों म� से, उस िवक� का चयन करे जो िदए गए मुहावरे का सही ं अथ� वाला
िवक� है

Que. 175
।

मंूग की दाल खाने वाला।
1. सोच समझकर काम करना
2. सीधा-साधा ���
3. कमजोर
4. संुदर होना

Solution Correct Option - 2

                 
 

  

      

 

 

  

िन�िल�खत �� म�, चार िवक�ों म� से; उस िवक� का चयन कर� जो िदए गए मुहावरे का सही अथ� वाला
िवक� है

Que. 176
।

शहद लगाकर चाटना।
1. िकसी चीज़ को �थ� लेकर बैठे रहना
2. कीमती होना
3. पसंदीदा होना
4. बढा-चढ़ा कर कहना

Solution Correct Option - 1

                 
 

 

 

 

 

 

िन�िल�खत �� म�, चार िवक�ों म� से, उस िवक� का चयन कर� जो िदए गए मुहावरे का सही अथ� वाला
िवक� है

Que. 177
।

िहसाब बैठना।
1. सही लगना
2. �ान देना
3. पूछताछ करना
4. सुभीता होना

Solution Correct Option - 1

                 
  

    

       

     

 

 

िन�िल�खत �� मे,ँ चार िवक�ों म� से, उस सही िवक� का चयन कर� जो दी गई लोको��याों का सही अथ�
वाला िवक� है

Que. 178
।
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�भुता पाइ का� मद नही।ं
1. श�� पाने पर ��� अिभमानी हो जाता है
2. बड़ा होकर भी कुछ न पाना
3. बेकार चीज
4. असंभव काय�



Solution Correct Option - 1

                 
   

         

िन�िल�खत �� म�, चार िवक�ों म� से, उस सही िवक� का चयन कर� जो िदए गए वा� के अं�ेजी अनुवाद
का सही िवक� है

Que. 179
।

िव�ािथ�यों को चािहए िक पहले यो� बने िफर राजनीित कर� ।
1.
2.
3.

Students should be eligible before and then do politics.
Students should do politics before and then be eligible.
Students should NOT be eligible before and then do politics.

Solution Correct Option - 1
Students should be eligible before and then don't do politics.4.

                
    

           

िन�िल�खत �� म�, चार िवक�ाो म� से, उस सही िवक� का चयन कर� जो िदए गए वा� के अं�ेजी
अनुवाद का सही िवक� है

Que. 180
।

�तं� भारत का स�ूण� दािय� आज िव�ािथ�यों के ही हाथों म� है।
1.
2.
3.

The some obligation of independent India is in the hands of the students today.
The entire obligation of dependent India is in the hands of students today.
The entire obligation of independent India is in the hands of the students today.
The entire obligation of independent India is on the hands of the politicians today

Solution Correct Option - 3
.4.

                 
   

           

िन�िल�खत �� म�, चार िवंक�ों म� से, उस सही िवक� का चयन कर� जो िदए गए वा� के अं�ेजी अनुवाद
का सही िवक� है

Que. 181
।

खेलों के आयोजन से खेल भावना का िवकास होना �ाभािवक ही है।
1.
2.
3.

It is artificial to develop sports spirit by organising sports.
It is natural to develop sports spirit by NOT organising sports.
It is natural to discard sports spirit by organising sports.

Solution Correct Option - 4
It is natural to develop sports spirit by organising sports.4.

                 
   

                

िन�िल�खत �� म�; चार िवक�ों म� से, उस सही िवक� का चयन कर� जो िदए गए वा� क॑ अं�ेजी अनुवाद
का सही िवक� है

Que. 182
।

यिद स�े िदल से समाज के िहंत के िलये काय� िकया जाए तो समथ�न अव� िमलता है।
1.
2.
3.

If false work is done for the benefit of the society, then support is given.
If true work is done for the benefit of the society, then support is given.
If true work is done for the loss of the society, then support is given.

Solution Correct Option - 2
If true work is done for the benefit of the ourselves, then support is given.4.
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िन�िल�खत �� म�, चार िवक�ों म� से, उस सही िवक� का चयन कर� जो िदए गए वा� के अं�ेजी अनुवाद
का सही िवक� है

Que. 183
।

उ�ोग तथा �वसाय म� �धा� होना �ाभािवक है।
1. Competition in industry and business is natural.

Competition in society and business is natural.2.



3. Competition in industry and business is popular.

Solution Correct Option - 1
Competition in industry or business is natural.4.

                 
 

   

िन�िल�खत �� म�, चार िवक�ों म� से, उस सही िवक� का चयन कर� जो वा�ांशों के िलए एक श� का
िवक� है

Que. 184
।

जो थोड़ा जानता है।
1. अव�
2. अ�
3. अ��
4. सव��

Solution Correct Option - 3

                 
 

     

िन�िल�खत �� मे,ँ चार िवक�ों म� से, उस सही िवक� का चयन कर� जो वा�ांशों के िलए एक श� का
िवक� है

Que. 185
।

जो इस लोक की बात है।
1. अलौिकक
2. �ग�य
3. पा�ा�
4. लौिकक

Solution Correct Option - 4

                
 

             

िन�िल�खत �� म�, चार िवक�ों म� से, उस सही ं िवक� का चयन कर� जो रेखांिकत श� के िलए उिचत
िवक� है

Que. 186
।

िपता ने बेटी की शादी म� िकसी भी �कार की कमी न होने दी।
1. हास
2. ह�
3. पूित�
4. �ास

Solution Correct Option - 4

Solution

     कौन-सा श� 'ऐिहक' श� का िवलोम हैQue. 187 ?
1. भौितक
2. सांसा�रक
3. पारलौिकक
4. ऐहलौिक

Correct Option - 3
क
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Que. 188 िन�िल�खत �� म� चार िवक�ों म� से उस िवक� का चयन कर� जो िदए गए श� का सही
समानाथ� श� वाला िवक� ह�।

सप�



1. �ा�
2. शादू�ल
3. मवेशी
4. सारंग

Solution Correct Option - 4

                   िन�िल�खत �� म� चार िवक�ों म� से उस िवक� प का चयन॑ कर� जो िदए गए श� का त�व �प हैQue. 189 ।
इ�ु

1. अिभलाषा
2. इ�ा
3. ईख
4. उ�ू

Solution Correct Option - 3

                 

     

 

िन�िल�खत �� म�, चार िवक�ों म� से, उस िवक� का चयन कर� जो सव�नाम के भेद का सही िवक� हैQue. 190 ।
िजसको हमने बुलाया था, वह आया है।

1. िन�यवाचक
2. संबंधवाचक
3. उ�म पु�ष
4. िनजवाचक

Solution Correct Option - 2

Solution

        इनम� से कौन सा श� भाववाचक सं�ा नही ं हैQue. 191 ।
1. मनाही
2. िव�ता
3. सोना
4. खु

Correct Option - 3
शी

                 

     

 

िन�िल�खत �� म�; चार िवक�ों म� से, उस िवक� का चयन कर� जो ि�या के भेद वाला सही िवक� हैQue. 192 ।
दीपा ने गाय को चारा �खलाया।

1. नामधातु
2. ि�कम�क ि�या
3. �ेरणाथ�क
4. कृदंत

Solution Correct Option - 2
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िकस �कार के िवशेषण म� दों �ािणयो,ं व�ुओ इ�ािद के गुण दोष अथवा िवशेषता की तुलना कर एक को
दूसरे से बढ़ा चढ़ाकर बताया जाता है

Que. 193
।

1. मूलाव�था
2. चापलूसी करना



3. उ�राव�था
4. साव�नािमक

Solution Correct Option - 3

Solution

      िकस �ंजन का उ�ारण �थान ताल� हैQue. 194 ?
1. ग
2. झ
3. न
4.

Correct Option - 2
म

                   

 

बोली का �े� ज़ब थोड़ा िवकिसत हो जाता है. और उसम� सािह� की रचना होने पर वह �ा बन जाती ह�Que. 195 ?
1. �जभाषा
2. उपभाषा
3. िलिप
4. �े�ीय �प

Solution Correct Option - 2

               िजन �िनयों की गणना न �र म� की जाती है न �ंजन म� - उसे � या कहते ह�Que. 196 ?
1.

Correct Option - 4

आगत
2. ऊ�
3. अंत�थ
4. अयोगवाह

Solution

Solution

            �र तंि�यों के आधार पर �ंजनों को िकतने वग� म� बाँटा गया हैQue. 197 ?
1. एक
2. दो
3. तीन
4. चा

Correct Option - 2
र

                    
            

िज�ा की नोक जब ऊपर के दांतो की पं�� के सामनेवाQue. 198 ल

 

 

े दाँत के ऊपरी िह�े के स�क� म� आकर वायु के
�वाह को अव�� करती ह� ऐसे उ�ारण �थान को � या कहा जाता है?

1. दं�
2. मूध��
3. ताल�
4. व��

Solution Correct Option - 4
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इनम� से कौन सा काया�लय आदेश के मूल गुण नही ं ह�Que. 199 ?



Solution

 

  

अनौपचा�रक

Correct Option - 1

ता1.

2. नापा तुला
3. िनवैय��क
4. बाहर भीतरी बात�

Solution
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आयकर से माफ़ी एवं पूण� मु�� के िलए िकसे �ाथ�ना-प� िलख�गेQue. 200 ?
1. �शासन अिधकारी
2. संपादक अिधकारी
3. आयकर अिधकारी
4. संपादन अिधका

Correct Option - 3
री
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